Impact of Mining and Oil Extraction on the Environment

Question 1 

Баллов: 1 

Fill in the gaps with the most suitable word from the list.
To avoid wasting things we can use __________

Выберите один ответ. 

	[image: image2.wmf]
	a. exhaust fumes 
	

	[image: image3.wmf]
	b. recycling 
	

	[image: image4.wmf]
	c. rubbish 
	

	[image: image5.wmf]
	d. shortage 
	

	[image: image6.wmf]
	e. drought 
	

	[image: image7.wmf]
	f. waste 
	

	[image: image8.wmf]
	g. global warming 
	

	[image: image9.wmf]
	h. pollution 
	

	[image: image10.wmf]
	i. litter 
	

	[image: image11.wmf]
	j. smog 
	


Question 2 

Баллов: 1 

Fill in the gaps with the most suitable word from the list. 

Throwing things away unnecessarily is called__________ 

Выберите один ответ. 

	[image: image13.wmf]
	a. exhaust fumes 
	

	[image: image14.wmf]
	b. recycling 
	

	[image: image15.wmf]
	c. rubbish 
	

	[image: image16.wmf]
	d. shortage 
	

	[image: image17.wmf]
	e. drought 
	

	[image: image18.wmf]
	f. waste 
	

	[image: image19.wmf]
	g. global warming 
	

	[image: image20.wmf]
	h. pollution 
	

	[image: image21.wmf]
	i. litter 
	

	[image: image22.wmf]
	j. smog 
	


Question 3 

Баллов: 1 

Fill in the gaps with the most suitable word from the list.

In cities the air is hard to breathe because of car_______________

Выберите один ответ. 

	[image: image24.wmf]
	a. exhaust fumes 
	

	[image: image25.wmf]
	b. recycling 
	

	[image: image26.wmf]
	c. rubbish 
	

	[image: image27.wmf]
	d. shortage 
	

	[image: image28.wmf]
	e. drought 
	

	[image: image29.wmf]
	f. waste 
	

	[image: image30.wmf]
	g. global warming 
	

	[image: image31.wmf]
	h. pollution 
	

	[image: image32.wmf]
	i. litter 
	

	[image: image33.wmf]
	j. smog 
	


Question 4 

Баллов: 1 

Fill in the gaps with the most suitable word from the list.

Areas with low rainfall often suffer from _______________

Выберите один ответ. 

	[image: image35.wmf]
	a. exhaust fumes 
	

	[image: image36.wmf]
	b. recycling 
	

	[image: image37.wmf]
	c. rubbish 
	

	[image: image38.wmf]
	d. shortage 
	

	[image: image39.wmf]
	e. drought 
	

	[image: image40.wmf]
	f. waste 
	

	[image: image41.wmf]
	g. global warming 
	

	[image: image42.wmf]
	h. pollution 
	

	[image: image43.wmf]
	i. litter 
	

	[image: image44.wmf]
	j. smog 
	


Question 5 

Баллов: 1 

Fill in the gaps with the most suitable word from the list.

The paper people drop in the street is called _______________

Выберите один ответ. 

	[image: image46.wmf]
	a. exhaust fumes 
	

	[image: image47.wmf]
	b. recycling 
	

	[image: image48.wmf]
	c. rubbish 
	

	[image: image49.wmf]
	d. shortage 
	

	[image: image50.wmf]
	e. drought 
	

	[image: image51.wmf]
	f. waste 
	

	[image: image52.wmf]
	g. global warming 
	

	[image: image53.wmf]
	h. pollution 
	

	[image: image54.wmf]
	i. litter 
	

	[image: image55.wmf]
	j. smog 
	


Question 6 

Баллов: 1 

Fill in the gaps with the most suitable word from the list.

Not having enough of something is called a_______________

Выберите один ответ. 

	[image: image57.wmf]
	a. exhaust fumes 
	

	[image: image58.wmf]
	b. recycling 
	

	[image: image59.wmf]
	c. rubbish 
	

	[image: image60.wmf]
	d. shortage 
	

	[image: image61.wmf]
	e. drought 
	

	[image: image62.wmf]
	f. waste 
	

	[image: image63.wmf]
	g. global warming 
	

	[image: image64.wmf]
	h. pollution 
	

	[image: image65.wmf]
	i. litter 
	

	[image: image66.wmf]
	j. smog 
	


Question 7 

Баллов: 1 

Choose the correct answer.

Which environmental problem could cause an increase in the number of people with skin cancers? 

Выберите один ответ. 

	[image: image68.wmf]
	a. acid rain 
	

	[image: image69.wmf]
	b. cutting down the trees in the rain forests 
	

	[image: image70.wmf]
	c. damage to the ozone layer 
	

	[image: image71.wmf]
	d. global warming 
	


Question 8 

Баллов: 1 

Choose the correct answer.

Which environmental problem could lead to a rise in sea level? 

Выберите один ответ. 

	[image: image73.wmf]
	a. acid rain 
	

	[image: image74.wmf]
	b. cutting down the trees in the rain forests 
	

	[image: image75.wmf]
	c. damage to the ozone layer 
	

	[image: image76.wmf]
	d. global warming 
	


Question 9 

Баллов: 1 

Choose the correct answer.

Which environmental problem could lead to the death of fish in a lake? 

Выберите один ответ. 

	[image: image78.wmf]
	a. acid rain 
	

	[image: image79.wmf]
	b. cutting down the trees in the rain forests 
	

	[image: image80.wmf]
	c. damage to the ozone layer 
	

	[image: image81.wmf]
	d. global warming 
	


Question 10 

Баллов: 1 

A farmer tested the soil in a field and found that it had a pH of 6. This shows that the soil was _______
Выберите один ответ. 

	[image: image83.wmf]
	a. slightly acidic so gypsum needs to be added 
	

	[image: image84.wmf]
	b. slightly acidic so lime needs to be added 
	

	[image: image85.wmf]
	c. slightly alkaline so gypsum needs to be added 
	

	[image: image86.wmf]
	d. strongly acidic so lime needs to be added 
	


Question 11 

Баллов: 1 

Choose the correct answer.

Acid rain will not attack buildings made from 

Выберите один ответ. 

	[image: image88.wmf]
	a. chalk 
	

	[image: image89.wmf]
	b. granite 
	

	[image: image90.wmf]
	c. limestone 
	

	[image: image91.wmf]
	d. marble 
	


Question 12 

Баллов: 1 

Choose the correct answer.
Acidity in a lake can be reduced by adding 

Выберите один ответ. 

	[image: image93.wmf]
	a. basalt 
	

	[image: image94.wmf]
	b. granite 
	

	[image: image95.wmf]
	c. gravel 
	

	[image: image96.wmf]
	d. limestone 
	


Question 13 

Баллов: 1 

Choose the correct answer.
Which of the following gases make rain acidic: 1) carbon dioxide; 2) oxides of nitrogen; 3) oxides of sulphur; 4) oxygen ? 

Выберите один ответ. 

	[image: image98.wmf]
	a. 1 
	

	[image: image99.wmf]
	b. 1 and 2 
	

	[image: image100.wmf]
	c. 1, 2 and 3 
	

	[image: image101.wmf]
	d. 3 and 4 
	


Question 14 

Баллов: 1 

Choose the correct answer.
Which is a greenhouse gas produced when fossil fuels burn? 

Выберите один ответ. 

	[image: image103.wmf]
	a. carbon dioxide 
	

	[image: image104.wmf]
	b. hydrogen 
	

	[image: image105.wmf]
	c. methane 
	

	[image: image106.wmf]
	d. nitrogen 
	


Question 15 

Баллов: 1 

Decide if the following statement is true or false.

Carbon dioxide is produced during combustion. 

Ответ: 

[image: image108.wmf]Верно [image: image109.wmf]Неверно 

Question 16 

Баллов: 1 

Decide if the following statement is true or false.

Oxides of nitrogen are produced from vehicle exhausts. 

Ответ: 

[image: image111.wmf]Верно [image: image112.wmf]Неверно 

Question 17 

Баллов: 1 

Decide if the following statement is true or false.

Oxides of sulphur are produced when fossil fuels burn. 

Ответ: 

[image: image114.wmf]Верно [image: image115.wmf]Неверно 

Question 18 

Баллов: 1 

Decide if the following statement is true or false.

Oxides of sulphur dissolved in rainwater make nitric acid. 

Ответ: 

[image: image117.wmf]Верно [image: image118.wmf]Неверно 

Question 19 

Баллов: 13 

Match the words and their definitions.

	consequence 
	[image: image120.wmf]

Выбрать...


	

	demand(for smth) 
	[image: image121.wmf]

Выбрать...


	

	oil spills 
	[image: image122.wmf]

Выбрать...


	

	oil/gas retrieval/extraction 
	[image: image123.wmf]

Выбрать...


	

	dumping of waste 
	[image: image124.wmf]

Выбрать...


	

	indigenous population 
	[image: image125.wmf]

Выбрать...


	

	devastation 
	[image: image126.wmf]

Выбрать...


	

	oil/gas exploration 
	[image: image127.wmf]

Выбрать...


	

	gas flaring 
	[image: image128.wmf]

Выбрать...


	

	to voice one’s concerns 
	[image: image129.wmf]

Выбрать...


	

	to be on the brink of something 
	[image: image130.wmf]

Выбрать...


	

	pipeline leaks 
	[image: image131.wmf]

Выбрать...


	

	untapped resource 
	[image: image132.wmf]

Выбрать...


	


Question 20 

Баллов: 1 

Which of the following gases make rain acidic: 1) carbon dioxide; 2) oxides of nitrogen; 3) oxides of sulphur; 4) oxygen ? 

Выберите один ответ. 

	[image: image134.wmf]
	a. 1 
	

	[image: image135.wmf]
	b. 1 and 2 
	

	[image: image136.wmf]
	c. 1, 2 and 3 
	

	[image: image137.wmf]
	d. 3 and 4 
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